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LABOUR WELFARE AND INDUSTRIAL RELATIONS/LABOUR AND
SOCIAL WELFARE/HUMAN RESOURCE MANAGEMENT

PAPER —-1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Match the following :

List - I List - IT
(Name of the Contributor) (Contribution)
(a) Charles Babbage (i) Systems approach
(b) F.J. Roethlisberger and Dickson (i) X, Y theory
(c) Douglas Murray McGregor (iii) Hawthorne Experiments
(d) Talcot Parsons (iv) Fair day’s work

(A) (i @& (Gv) (i)
(B) (i) (v) (@) (@)
(© (iv) @) (@) (@)
(D) (iv) () @ (i)

2. With which school of management thought ‘Case of Schimadt’ is associated ?

(A) Scientific Management School ~ (B) Human Relations School

(C) Behaviour School (D) Systems Approach
3.  Arrange the following stages of Hawthorne Experiments as they were conducted :
(i) Bank Wiring Observation Test Room
(i) Ilumination Experiment
(iii) Mass Interviewing Programme
(iv) Relay Assembly Test Room
(A) (i), @), 1), (i) (B) (i), (iv), (i), ()
(©) (@), (i), (v), (i) (D) (i), (iii), (i), (iv)



I SHedATuT TS SHTEifiTen Wt/ s/H Ud WIS hedTuT/AIa HHTer Taee

U9 uT— 11
Ae: 39U IF H U (50) IS R B U U % a1 (2) ik &1 |t el % IW
IS
1. frfafea = gafaa s
Tqei-1 Tqei-11
FATETT R STl o ATH RIUC]
(a) =med Fas () wsfE 5 gfewm
(b) TH.S.JUfTHeR aun fesred i) X Y fagr
(c) =Y W HRIR (i) BT R TN
(d) oRle UEE (iv) TR S T
HIS @ () (© (@
(A) i @) () (i)
(B) (i) (v) () (@)
© (iv) (i) (@) ()
(D) (iv) G) (@) (i)

2. YA % R0 wha & faemi 9 e i fiemree’ wwafod §72
(A) SR Fored Shel (B) TME T Thel
(C) =HeeR fommer (D) wgfadi 1 g

3. T % gAr W, S 9 Henferd foRd s €, 3% et T | shieg shife
() % TR TETEvE T T (i) ST TEEURE

(iti) HTH TS U (iv) Tl sl ¢ &1
(A) (), (iv), (i), (i) (B) (i), (iv), (iii), (i)
(© (@), (i), (iv), (i) (D) (i), (iii), (i), (iv)
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4.  When the chain of command is longer than the span of control, the resultant organisation
structure is :

(A) Balanced (B) Flat (C) Tall (D) None of the above

5. What for feed forward control stands ?

(A) to be proactive (B) to be futuristic
(C) to be strategic (D) all the above
6.  Which of the following is not an operative function of Personnel/Human Resource

Management ?

(A) Procuring (B) Planning
(C) Developing (D) Maintaining
7.  In which order the following aspects of Manpower planning operate in established

organisations ?

(i)  Recruitment (i) Job analysis

(iliy Manpower Inventory (iv) Manpower Forecasting
(A) (i), (i), (iv), () (B) (i), (iv), (iii), (i)

(©)  (iv), (i), (i), (i) (D) (i), (i), (i), (iv)

8.  Which of the following is not a method of selection ?

(A) Advertisement (B) Interview
(C) Tests (D) Reference checking
9.  The method by which relative worth of Jobs in an organisation is determined is called
as :
(A) Job Specification (B) Job Description
(C) Job Analysis (D) Job Evaluation

D —-5505 4



4. A 'IF % wora’ (FeEm 1 faar) § ¢S o wars’ (ST Bl Sl ot g,

qo HISAHS o6 BT ¢
(A) Egferd (B) HHAA
(C) S (D) R for@ gu & 9 g off 71 |
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(A) TR H 3TH & fag (B) wfo= & forg
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(A) SHH=AT T I B) R Q) foweRta (D) =™ &

7. St fESE o Fefafed gee T wenfid Seen § f6E e | % i § 2

@) o (i) e favemm

(ii)  SFTTioRT ¥ (iv) SR qaigA

(A) (i), (i), (iv), (i) (B) (i), (iv), (iii), (i)
Q) (iv), (i), (i), (i) (D) (i), (i), (i), (iv)

8. Tr=fafed § 9 9 == fswan o1 alien T2f 82

(A) fomm (B) HI&TEhR (C) Tlem (D) ¥ it
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10. Assertion (A) : Grievance and Discipline are mutually complementary control

mechanisms.

Reason (R) : Discipline is a control of the management on employee and Grievance
is a control of the employee on the management.

(A) (A) is right but (R) is wrong
(B) Both (A) and (R) are wrong
(C) (A)is wrong and (R) is right

(D) Both (A) and (R) are right

11. Match the following :
List - I

(a) Top Management
(b) Middle Management
(c) Junior Management
Code : (@ (b)) (o
(A) (i) (@) (i)
(B) (i) @ (i)
©) @) G (i)

(D) None of the above

List - II
Human Skill

Conceptual Skill

Technical Skill

12. 360° Appraisal refers to the appraisal to be done by :

(A) Superiors and Subordinates

(B) Superiors Subordinates and Customers

(C) Superiors Subordinates, Customers and Peers

(D) None of the above



10. YT (A) : Torpma iR e S WER ST e % o €

THIUT (R) : FHHAE! o HR Jo-4T 1 FH301 & ST § T HHAMAT 1 ToleT 6 IR
[EREMERNCIECRS

(A) (A) F& € 9ferd (R) TTerd
(B) (A) 3R (R) I Terd

(C) (A) T 3R (R) T

(D) (A) 3R (R) <l Tl

11. 3= gofaa wifve :
-1 qE-11
(a) TR geem (i) WS 6l HIA
(b) HEAH e (i) STIETOM 1
(c) HAEE Fele (iti) TRmIeRl SHETCTAl

CICH @ (b) (o)
(A) (i) () ()
(B) i) @) (i)
© @ @) (i)
(D) T h hig o Tl

12.  360° Geich 1 TR T, 39 Jodichd 9, S g7 51 fhan T ¢
(A) gUifEd (qaarenl) qem steiTeei
(B) Ui sTefieeli aen SuHRBIS
(C) YR srefieel IuHRBIST qe THehal
(D) =94 4 & T8l (I fafed #)
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13.

14.

15.

16.

Which of the following is not a method of operative training ?
(A) Grid Training (B) Vestibule Training

(C) Apprenticeship Training (D) Demonstration

Which of the following is not a sub-system of HRD ?
(A) Training and Development

(B) Career Planning

(C) Performance Appraisal

(D) None of the above

The word “Kanban” refers to :

(A) A means of effective dialogue

(B) A meaning of effective communication and visual control
(C) A means of potential appraisal

(D) All the above

Consider the following assertions :

L. When role occupants perceive that they do something unique or new in their
roles, their efficiency is high.

II.  When role occupants perceive that they do only routine tasks, their role efficiency
gets lowered.

Which of the following is true about above assertions respectively ?
(A) IVslII:: Surfacing Vs Exploring

(B) IVslIl::Individualism Vs Creativity

(C) IVslIl::Linkage Vs Isolation

(D) IVslIl:: Creativity Vs Routinism



13.

14.

15.

16.

frfafea fafusi & S fharcrs wfeo T2 &2
(A) fire gftrero (B) ERehIE Tf¥rarl
(C) Torfegerrar wfdreon (D) Y&RH Yomeft

e HETEH foehd sl He-Tgid o &9 H 1 & 11?2
(A) wferor iR o™ (B) Sfamghd st Al
(C) T 1 AT (D) TR fafed i ot &

“ea ! ves T wE R R 2

(A) YWERIE! HaG 1 Tsh HIETH

(B) TTerRTel TEET 3R ST s 6w aed
(C) eT=afifed (Y=el) Hedich 1 HET

(D) W fofed @+t

Frefafea sfamal W foam =i

I 9 ger Al I8 IR W@ @ 3 9 SR W R € 91 v i § T
T W@ 79 STRI T I8 Bt

. 9 gea sAfsdiaar I oron wad 8 6 9 o fafha # s w € 99 ST fter w6
el H fiRree ot 7

SR el % IR H f1 § 9 B A w9 T
(A) 1AM II : : IS sFM SFATHMHSR
(B) 19 II : : JAfoKIehal SHTH HSHTCHRAT
(C) 1= II : : G¥ch o9 TehT=iard

(D) 19 II : : SiHAcHa oAm Fafiad
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17.

18.

19.

20.

The term “Blind Spot’ in Johari window model refers to :

(A) The self that is known to others as well as to oneself

(B) The self which is known to others but not to oneself

(C) The self which is known neither to others nor to oneself

(D) The motives, feelings etc, which are known to one’s own self

MBO cannot be implemented effectively in an organisation which is prone to rapid
changes, either internal or environmental, because :

(A) It becomes difficult to set objectives in a changing environment
(B) It becomes difficult to assign responsibilities in a changing situation
(C) Unforeseen changes may refer most objectives unachievable

(D) None of the above

The concept of task - oriented and people oriented leadership was developed by :
(A) Blake and Monton (B) John Berry

(C) Maxwell (D) Hertzberg

Which of the following is not the process theories of motivation ?
(A) Vroom's expectancy model

(B) Adam’s equity theory

(C) Porter’s performance satisfaction theory

(D) Alderfer’s ERG theory

D —-5505 10



17.

18.

19.

20.

Sert for wied # ' sege-wle’ " 9% e el AR B ¢ 2
(A) KIS 1 T T S 7 HI 71 T =l 914 2 |
(B) A 1 I8 79 S 3T ! HA & oifchd T ol -Tail |
(C) AT 1 7Y S 3T I q20 @ &l ft F@ A A

(D) AU, FergHl geatfe ST &g ol 31 & |

forel TraT § TH. ). 3. q9TETel! &1 ¥ wrEiferd T8 fohd ST Hehd S die i | gRe-ie 9,
R A S1aT Saeui &l i ;

(A) e TRy ¥ 3§ fuifa s wied 2 €
(B) uRewieiel fearfall § STRaTRaa Feifa st shfed 2 < |
(C) ety ufEri § 9gd | 3T 19T B Fehdl ¥ |

(D) S § § &g TE

S T qu1 S S1fHH@E g St ¥Ren & fas™ gan fefataa =afe & 51

(A) A A T (B) WHS  (C) HewaAw (D) =St

<

frfafad # | @ wifeawm (stfudwon) %t wfwn 1 fagr 7@ ¢ -
(A) I 1 U T AR

(B) WA I Ffeadt fagr

(C) R A ' WHRA HieThaRM' (FREE) & fagr

(D) TS &l 3.3, fagra
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21.

22.

23.

24.

25.

Who said, there are three actors of industrial relations ?

(A) Lester (B) Dale yoder (C) Dunlop (D) Krikardy

Good industrial relations refer to :
A) Absence of industrial disputes
B

~—"

(
( Greater use of Collective Bargaining

(C) Friendly attitude of Employer and Trade Unions
(D) All the above

To which of the following the two voluntary schemes of workers’ participation in
management introduced in the year 1975 and 1977 do not apply :

(A) Manufacturing

(B) Mining Industries

(C) Commercial and Service Organisations
(D) Central Public Sector Undertakings

Arrange the following in proper sequence :
i)  Establishment of the Indian Labour Conference
ii)  First Bombay Factory Commission

iii) Submission of the Report of the Royal Commission on Labour

A) - (i), (iv), (i), () (B)  (iv), (i), (i), (i)

(

(

(

(iv) Establishment of the ILO

(

(© (i), (i), (v), (i) (D) (@), (i), (i), (iv)

Which of the following is not a voluntary tripartite body ?

A) Indian Labour Conference

(
(B) Standing Labour Committee
(C) Central Advisory Board

(

D) None of the above

D —-5505 12



21.

22.

23.

24.

25.

 SfenfiTe Ty & i R € - = T wer?
(A) foaex (B) o AR (C) STad D IREEIE

3T STTENfiTeh Hrereil o1 T ©

(A)  Sirifies Tel st eTgufeerfa

(B) HNfesh Hicarsit o1 STfukierd: TN

(C) freim oIk T2 PR (M Hel) it fsreq wrae
(D) W fofed w+t

99 1975 SR 1977 H Go=4H o ST=<Id U] ol TSR o felw s 7t ohie o <1 Ufessh
e Frefafed o ar] & 8t €

(A) R (Hgtherfan) (B) w@fst Seim
(C) ooy Te o deemd (D) =<1 WA & 6 SUHA
frfafea i swaeg &L :

()  HRAE FH G hi Tl

(i) gIH TE el wHEE

(iii) 2™ W JIA HHYH Hi s AR

(iv) STE.TS.3T. i 9

(A) (i), (iv), (iii), (i) (B)  (iv), (i), (iii), (i)
(©) (i), (i), (iv), () (D) (@), (i), (i), (iv)

0 O hIF Teh SHfed FHerciamcie e &l § :
(A) YR 59 HHH

(B) wfen weR i

(C) = TearsH a1 (Fa Tt )
(D) T 9 = TR
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26. Theories on Trade Unionism were proposed by :
(A) Elton Mayo, Marx and Gandhi
(B) Marx, Weber and Gandhi
(C) Pearlman, Weber and Webbs

(D) Pearlman, Webbs and Marx

27.  Which of the following was the first National Labour Federation organised in India ?

(A) INTUC (B) AITUC (C) CITU (D) HMS

28. As per the rights of the registered trade unions, account books can be inspected :
(A) Only by the trade union members of the concerned union
(B) Only by the office bearers of the concerned unions

(C) Members and office bearers of the trade union at such time as provided in the
rules

(D) Members of any trade union

29. Match the following :

List - I List - II
(a) Trusteeship Theory (i)  Elton Mayo
(b) Revolutionary Theory (i) Labour welfare
(c) Placating Theory (iii) Karl Marx
(d) Human Relations Theory (iv) Gandhi

Code:  (a) (b) () (d)
(A) (iv) (D) @) @)

(B) (i) (@v) @& @)
(© (iv) @ () (i)
(D) @) @) G @)

D —-5505 14



26.

27.

28.

ook g1 o S o fagT yEdtferd fordl T 92
(A) T B, T 3R et

(B) IR, o 31 et

(C) TEiHA, ok T Iy

(D) YeiEd, 9o iR AT

TTH W DM |G 9H TS oIy Tt Tfud g3 o ?
(A) STE. T & g, & (B) T 3TE. .7 L
(C) . smE. & 7. (D) TH. TH. TH.

TSiighd Ao Gl o SfferehR o He H gk @ <l et fdero Frefetfaa # @ foraes gm0
fea T ke 22

(A) TrEf-od A9 §9 o Ge= o g & |
(B) HHUd HSIGY U o TR YRl o GN |

(C) Hafud HeIgl €Y o Hewi el efeenifEl & gr fuifia s o fSwent == fram |
EaRiEiRl

(D) Tt off 7oiQx W9 & WSl & W |

-1 el - 11

i) Ueed HREA
i) =W wA
iii)  RTel AR

iv) Teft
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30.

31.

32.

33.

34.

An application has been made by a union of 10,000 workers for registration to the
Registrar of Trade Unions. More than half of the total number of workers (6000) who
made the application, have ceased to be the members of the union before registration.
What will happen to the registration of that union ?

(A) Since 4000 workers are still there, the union will be registered by the registrar
(B) The application will be rejected
(C) The Trade Union Act, 1926 is silent on this subject

(D) None of the above

Which of the following is not a principle of labour legislations ?
(A) Principle of Social Justice (B) Principle of Economic Equality

(C) Principle of Social Welfare (D) Principle of International Uniformity

As a result of the New Economic Policy in India, for which of the following legislations
there is a growing demand from employers for a change ?

(A) Maternity Benefit Act, 1961 (B) Trade Unions Act, 1926

(C) Industrial Disputes Act, 1947 (D) E.S.I Act, 1948

For which of the following there is no provision under the Factories Act, 1948 ?
(A) Canteen Managing Committee (B) Safety Officer

(C) Site Appraisal Committee (D) Welfare Committee

A worker has instituted a claim for compensation in respect of an injury before a
Workmen’s compensation Commissioner and now he wants to institute a suit in a civil
court for the same injury. Which of the following will be the correct in this regard ?

(A) He can institute a suit in the civil court

(B) He cannot institute a suit in the civil court as he has taken the claim to the
commissioner

(C) The suit can be taken to both simultaneously

(D) None of the above

D —-5505 16



30.

31.

32.

33.

34.

T AeIX W Feent &= 10,000 T 3HH R YR HEGHA 1 USHehi0l o T T eTeeA
feam o ¥ 1 iR % 99 & 6,000 e ST HSIgU HE W 379 Y ST i § | U feafa
3 TSI H o SRl I T BT 2

(A) 9 A 8 H A4t A 4,000 HSH B o HNUT IHRI GS{RL0T HL fora S |
(B) % 3o WISt (eTeaishd) Y feam s |

(C) =9 Ty H Hory 9 Afufam, 1926 Tof 9 § HiF T

(D) ST H ¥ FE T

frefafad & & fd sm o w1 fagra 72 e <1 T 82
(A) HmfseR =g 1 fagr (B) el TR 1 g
(C) S e i fagr (D) T e & fagm

Tt anfeler ifd o RO IRd | Frefafed wrE 9 fed e | 9ok w9 % fa g
Afereh HiT ot <1 W T

(A) W oY SATTEH 1961 (B) WS §® AfUfTaH 1926
(C) SirEnfiTh fommg sifafm=m 1947 (D) E.UH.3TE. HMA 1948

frfafed ¥ 9 foras rerg § SR AT 1948 & ST=iid IS WA el fan 7= § 2
(A) HRH Yo HiHA (B) QI TRIHh
(C) HEe TSI HHA (D) HedTo i

T e = gele & g aifagftd ot A o Tvery § afaqfd e & Het STIAT e fohan
¥ o791 T T Rl TR I8 ARG STaTerd B HohaT T =redl § UHt feufa o frefafad &
H At o 3faa et e 2

(A) T ST AT ARG T % TH& T Tkl §

(B) Weh IR AME 3T TUT AT &fYfi iR o THeT Tga e fean =1 1 59 feeafa & 39 wim
1 T AN TSTerd | el o S Hehell € |

(C) T AT T HHITR HEICT % THeT q SRIeh AR Tl 8 2 Ueh Fe o S Wehell § |
(D) W H ¥ *E Tl
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35. Which of the following is correct ?
(A) Maternity Benefit Act, 1961 is a scheme of social assistance
(B) Maternity Benefit Act is a scheme of social insurance
(C) Itis an example of both social insurance and social assistance
(D)

D) None of the above

36. Match the following :

List - I List - II
(a) Protected workman (i)  Industrial Employment (Standing orders)
Act, 1946
(b) Immunity from civil suit (i) Maternity Benefit Act, 1961
(c) Subsistence Allowance (iii) Industrial Disputes Act, 1947
(d) Medical Bonus (iv) Trade Union Act, 1926
Code : @ () () (@
(A) (iii) (v) () (i)
(B) (iv) (@ () (i)
©) (i) @ () ()
(D) @) (D) Gv) (i)

37. An individual workman can raise an industrial dispute in case of :
(A) Retrenchment (B) Dismissal
(C) Discharge (D) All the above

38. Match the following :

List - I List - II
(@) Two or more members (i) Board of Conciliation
(b) Chairman and two or four members (i) Works Committee
() One member (iii) Labour Court
(d) Number of workmen representatives (iv) Court of Enquiry

not less than management representatives

Code: (@) (b) () (d)

(A) (iv) @) (@) (@)
(B) (iv) (@) (D) (i)
(© (i) @) (v) (i)
(D) (i) @) (@) @)
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35.

36.

37.

38.
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Frefafeaa o & frd w2t %81 1 9ea1 §2

A) HIgE o A 1961 WIS TEEdT S Th A 7
B) HIgE ol AfufTem 1961 ISR SHT i Teh Ao 7

C) % Ui WIS ST qei Traifsish eradl Sl bt & el S
D) ST H ¥ HE T |

iy oireEnfits freeH (Terh e sifafwem, 1946
i) HIge AW AEE, 1961
iii)  sirenfirr faarg sifufaw, 1947

T Afaqa Jfer o g fefafed § 9 forg feafa o stenfires faare semn s dehar &2

(A) St (B) SR@Ewt (C) Hamgex (D) W §et

frefafed 1 gafea it

(a) < a1 3Nfw e () Yagae

(b) TeHE TH <1 AU IR HH (i) e wiafa

() T&F 93 (iii) &9 =T

(d) sftert % faffear 1 gen (iv) = ST
YereH o gfafafE ot 9 w8 =l

FE: (@ () (© (d

(A) (iv) (i) (i) ()

(B) (iv) (1) (D) (i)

©) (i) (@) (@v) (i)

(D) (i) () (@Gv) @)

P.T.O.



39.

40.

41.

42.

43.

44.

The Equal Remuneration Act, 1976 provides :
(A) Equal Remuneration to men and women

(B) Equal Remuneration to men and women and helps to remove discrimination in
recruitment

(C) Equal Remuneration to men and women for same work and helps to remove
discrimination while recruiting men and women

(D) None of the above

Within how many months from the date of closing of the Accounting year bonus must
be paid by the employer under the Payment of Bonus Act, 1965 :

(A) 7 months (B) 8 months (C) 9 months (D) 10 months

Which of the following legislations does not contain labour welfare provisions ?
(A) Industrial Disputes Act, 1947 (B) Mines Act, 1952

(C) Plantation Labour Act, 1951 (D) Factories Act, 1948

Who among the following advocated the use of collective bargaining as the best method
for promoting healthy labour management relations in India ?

(A) Mahatma Gandhi (B) Guljarilal Nanda

(C) Khandubhai Desai (D) V.V.Giri

Which of the following is a statutory welfare facility under the Factories Act, 1948 ?
(A) Games and Sports (B) Housing Facilities

(C) Transport Facilities (D) None of the above

Which of the following has done considerable work in the field of labour welfare ?

(A) CARE (B) WHO (C) ILO (D) UNICEF

D —-5505 20



39.

40.

41.

42.

43.

44.

o wiikgfhe sifufam, 1976 Frefafea 8 9 f6d gfed s g
(A) TE9 3R Afgensti & faw gum wilkyfis

(B) g&Y 3R Afgensii &1 v witufied Tt 3= Heg el a1 STt Ol § fhEt YR &
YU ! G HET

(C) g&ul IR Afgcrsil 1 Tk S & o fow Uahn Sreft Aeigll <A1 qen wiit & oo 3 fohet
TehR ok G- HTel ol G R

(D) W H ¥ *E Tl

A A AT, 1965 % STl ol WA 99 (THRR 32R) 9 8 % fhdad qe %
3T AfHeni ol AIfcteh o R SMY 1 T o {1 ST =1fey ?

(A) 9@ R (B) TS WR (C) R (D) TEHE

frefafaa & & frm v § 9 s & ey § gegH T8 o ™ e
(A) il foarg sifufem, 1947 (B) ®RM sifufwm, 1952
(C) = 9rH Jfder stffam, 1951 (D) hR@ fufEm, 1948

freafafea # 9 fra fagm = w1 o fF yRdr e # ol mifas gt gy wenfad &
% oI Ao Siearst Ta 98 T ¢ 2

(A) T et (B) TR F1  (C) WigwWE @E (D) drd fifk

FHREM TR, 1948 % STTER Frafafad § 9 & 1 S 59 Hedr faen & ST
AT ?

(A) ©d qAl hrel (TY) Tl gfaard  (B) 7o wrerel gfaemg
(C) e gfaem (D) SHIE H g &

9 e & & § fefafaa dwensii § § fmg gwen 3 qewayui/wrht S w2
(A) ©.T AR S (B) == TH. Al
(C) 3TE. TA. 3. (D) 9, . E. HI. 5. TH.

D —-5505 21 P.T.O.



45.

46.

47.

48.

49.

50.

Under which part of the Indian Constitution necessity of more labour welfare is
emphasised :

(A) Fundamental Rights
B) Directive Principles of State Policy
Both under Fundamental Rights and Directive Principles of State Policy

None of the above

Which of the following is not a characteristics of Indian Labour Market ?
(A) Migratory character

(B) Low level of literacy

(C) High Degree of Unionization

(D)

High rates of Absenteeism and Labour Turnover

Who among the following propounded the marginal productivity theory of wages ?
(A) Davidson (B) Webbs (C) Maurice Dobb (D) Walker

Which of the following is not a method of State Regulation of Wages ?
(A) Minimum Wage Legislation (B) Ordinances
(C) Wage Boards (D) Industrial Tribunals

Wages paid on the basis of units produced are called :

(A) Time Rated (B) Money Wages (C) DPiece Rated (D) Real Wages
Which of the following is not a type of wage differential ?
(A) Occupational wage differential (B) Geographical wage differential

(C) Wage - Differentials on the basis of sex (D) Personal wage differential

-00o0-
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45.

46.

47.

48.

49.

50.

T Hfae™ & g o9 § 99 weam & g § fose gy fo ™ €2
(A) difaes sifsr

(B) TF & Hifa fcwrs

(C) Tiiferer SIfyeRR qen T & ifd fidwes a@ ami o &

(D) SR H I HE &l

TR 9 TR W F=fafad § 9 HH-F oo ang 72 St €2

(A)  gaTEHE IO (B) W& Wl 141 &R

(C) HITSHIRIT hl I=a &N (D) AU qe JfHeh TERAdl 1 3 T

TG o1 | Sceehd] FHETT o erieh fefafad 3 § i 972
(A) faeaa (B) osH (C) e < (D) =R

gl & Tk e &, Frefafed § 9 #F 9 9% 1@ §2

(A) I Hergd sifafem (B) 3TEARY

(C) weigd arE (D) it feegaa
TG T ShISAN o SR T ASIGY YA F qeh hl hal oIl § -
(A) R (B) Ha HSIgd

© THER (D) e TGl

frefafag § 9 &1 Tegd fawmar #1 T TR & €72
(A) EHIIH ASIGY <R (B) siFiifeieh HSIGd TR
(C) T & oMuR W ASigy fsrar (D) SAfRIT ASigl 7=

-00o0-
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